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if(cond)
block1
else
block?2

Max( time(block1) , time(block2) )
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while(i>1)
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for (i=1;i<=8; i=i*2)
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for (i=n; i>=16 ; i=i/4 )
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log), —log,’+1=1log; — 1= O(log})
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for (j=1;j<=n;j++) {
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for (k=1 ; j<=n; k++) {
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f(n X
if (n==1) | .
turn 1; -
else = /e nxfm-1)  n>l
return n * f(n-1);
}
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f(4)=4¥(3)=4%6=24
f(3)=3#(2)=3*2=6
f2)=2%(1)=2+1=2
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f(n X
if (n==1) | -
turn 1; -
else b /@ {nxf(n—l) n>1

return n * f(n-1);
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f(4)=4*f(3)=4*6=24

f(3)=3*f(2)=3*2=6
f(2)=2%f(1)=2%1=2
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sum( n)
{
f (n==1) sunfr) = {1 n=1
return 1 n+sumn-1) n>1
else

return n+ sum(n-1) ;

1l 6 Jepe n=3 sl 4 &b u.:|9.>|)9 g e
sum(3)=3+sum(2) =3+3=6
sum(2)=2+sum(1) =2+1=3
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f(n, mX
if (m==1) ) .
return n; fn, m):{ B
else nxfmm-1) m>1

return n * f(n,m-1);
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f(3,4) = 3 * f(3,3) =3%3*3%3
f(3,3) = 3 * f(3,2) =3%3%3
f3,2) = 3 * f(3,1) =3*3
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f(11,3)=f(8,3) +1 =2+1=3
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tower (n, A, B, C)

{

if (n==1)
AtC _/\_

A B C
else {

tower (n-1, A, C, B);
Ato C;
tower (n-1, B, A, C);




A

12 4ACH)=

4-C @

I2BA0)=4

[LCAB)=C=5 ()

(JLo) 595l

T(3,A,B,C) : B als S5 4, C aloo 4 A alls ) 0 40 3 L

3 Disks

MLABO=4-C () “ ‘ L| | * | | ‘

A-B ()

MLBGA=B—4 ()

BC (6 w
MARO=4-C () _J._J._.L_ .L | ﬁ | | ﬁ




Uy @b

(0,1,1,2,3,58,13,21,34,...) : g2lipssd g o1 M aloz doalro

f(nX
if ((n==0) || (n==1)) 0 n=0
return n; f(n)=+1 n=1
else f-D+f(n-2)  n>2

return f(n-1) + f(n-2);
}
g Sy p i o dibne
f(4)=f(3) + f(2) =2+1=3
f(3)=f(2) + f(1) =1+1=2
f(2)=f(1) + f(0) =1+0=1
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f(n
( )ii(n: ) fO=72)= f0)
exit( );
else{
n=n+1;
f(n);
cout<<n;
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if (n >2) f@=f0)=1Q2)
f(n-1);
cout << 'a';
cout << 'b':

;
}




Jls
feunz F(1,4) J1s313 glif 405 iy ) o295
f (nm) fAA)= f(25)= f(36)
if (n==3)
exit( );
else {
n=n+1;
m=m+1;
f(n,m);
cout<<n;
cout<<m;
}
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fact (n){
if (h==0) return 1;

else return n*fact(n-1);
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f(n)
if (n>=2)
{f(n-l)' Tm)=T(n-1)+T(n-1)+T(n-2)+1
£ (n-1); I(0)=0
f(n-2); I{1)=0
Cout<<ll*ll.
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Element
int a[10]; First index (at index 8)

0]1 2 3 4 5 6 7\8 9—




int balances[11][6];

Row index

&9 99 Wl

 [0])
(1)
(2]
(3]
(4]
[5]
[6]
[7]
(8]
(2]

L [10]

Column index
[01[1102][3][41[5]

balances([3][4]
J
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loc(x[i]): a+(i-)xw X[lll]

loc(x[i, j]): a+[(i-1)x(u, =1 +1)+(-1)]xw X[/.up, 1]

loc(x[i, j,k]):

a+ (= 1) %y~ + D)%ty =, +1) 4 (G =L)Xty =1, +1) + (k=L)X Mhan, 1yt by
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a+[(i=1)x@,=L+)+(j=1)]xw

10+[(1-0)x4+(2-0)]x8 =58
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g+ [((-Lx @, =L+ Dx (@, =L+ D+ <Ly~ + D+ k=i, Jxw

0+[(3-0)x10x5+(4-0)x5+(2-0)]x2
=0+[150+20+2]x2 =344
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seqsearch (a[ |, n, x)

{
for(i=0;i<=n1;i++)
if (a[i] == x)
return i ;
return -1 ;

}
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bsearch(a[ |, x, low, high){
while (low <= high)
{
mid = (low + high) / 2 ;
if (x < a[mid] )
high = mid-1 ;
else
if ( x> a[mid] )
low = mid+1 ;
else return mid ;

}

return -1 ;

}
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bsearch (a[ ], x, low, high ){
if (low <=high )
{
mid = ( low+high )/ 2;
if ( x < a[mid] )
bsearch( a, x, low, mid-1);
else if (x > a[mid] )
bsearch (a, x, mid+1, high );
glze
return mid;
}
return -1; }
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delete(a[],n, k,x)
{

x = a[k];

for(i=Kk;i<n;i++)

afi] = a[i+1];
ali] = 0;
return(x);

}
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I Front
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2 & cl spaie gl whio 4 0ud 8y paie gl 1y il o (First In First Out) FIFO cuud 1) o
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54 o0 ool Fear ¢ front s g0 g queue0..n-1] gun K 4l §f o Jiules ),
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0 1 2 3
front = -1, rear = -1
front =-1, rear =0 Az,
front = -1, rear =1 B z.,»
front = -1, rear = 2 C z»
front=0, rear = 2 A G

front=1, rear = 2 B LWi>
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addq (rear, item)

{
if (rear == n-1) 01 2 3
{ Al Bl C rear=2
queue-full( ); 0 1 2 3
return;
) Al Bl C rear=3

rear= rear+1;
queue[rear] = item;
Aib N1, Tear lais p o o 5%
el Jreary front Jais Jb o oS5




delq (front , rear)

{ D 1 2 3
if (front == rear) Bl C front=0

return queue-empty( ); 0 1 2 3
return q[++front] ; C front=1

}
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(0) (n-=1)
front =0; rear =4 front=n-4, rear=0




Sl o )3 7y

addq (front , rear , item)
{
rear = (rear+1) % n;
if ( rear == front )
{
queue-full(rear);
return;

Y
queue[rear] = item ;

}




deleteq (front , rear)
{
if (front == rear)
return queue-empty( );
front = (front+1) % n;
return queue[front] ;

}
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deleteq (front , rear)

{
if (front == rear)
return queue-empty( );
front = (front+1) % n;
return - queue[front] ;

}
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push (top , item)
{
if (top >= max-1) :
stackfull ); c |-~ | C
B PUSH B
return; | |
} A A
top=top+1; STACK BEFORE STACK AFTER

stack[top] = item;
}
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pop ( top )
|
if (top==-1)
return stack-empty( );

pop

return
stack[top--];
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Weakly connected
no path from b to d.

Connectivity
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bfs(v){
front = rear = NULL;
cout << v;
visited[v] = TRUE;
addq ( &front , &rear , v );
while ( front) {
v = deleteq (&front);
for ( w = graph[v] ; w; w = w->link )
if ( lvisited[w -> vertex] ) {
cout << w -> vertex;
addq ( &front, &rear , w -> vertex );
visited[ w -> vertex ]=TRUE;
13}
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dfs (v)
{
visited[v] = TRUE;
cout << v;
for ( w = graph[v]; w; w = w->link )
if (! Visited [w -> vertex] )
dfs ( w -> vertex );
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edge | d, edge | d,
DE) | 1 (BE) | 4
(DG) | 2 BF) | 4
(EG) | 3 (BH) | 4
(CD) | 3 (AH) | 5
(GH) | 3 (DF) | 6
CF) |3 (AB) | 8
B.C) | 4 (AF) | 10




edge | d, edge | d,
OF [ 1| ¥ BE) | 4 | 7
DG | 2| ¥ BF) | 4 | 7
EG) 3| BH | 4 | x
cD [3] ¥ @H | 5| ¥
GH | 3| ¥ OF) | 6
CcH | 3| ¥ AB) | 8
BC | 4| V¥ AF) | 10

Total Cost =21

not
considered
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Total weight of tree: 18







